419000 w9500 = 420000 420500 421000 421500 422000 422500

- 6509500 N

: : - g
- 65090006

v

1.ty

it

A3
- 8508000

5 .\\\
\ '\\
..\‘.\
S
L
\\"\ A4
- 8507500 % i
\
\

A\




B 1 S — 1T, p—— D VT T 424500 S 425000 425500 426000 426500




508500 -

6

b 6508000 -

@ 5507500 -

5507000 -

/

K

angle ‘ H
*Wb

L
"0

-

u2

420000

427500

000
%




- 650600
| R
- 6505500
- 5505000
Fa
A
A
\

A

- 6504500

- 8504000

=

s &

\—

COT-Hanesna:

A [ uil

([ ———a ey










1

» 6502000 -



Ty \ h =T ) \ J !
e OV VBHEER € DoFy O BAG
Ve | =gl s0m0 % \\ \‘a 250 B\

)
424500 425500



/H [

e
B
bd

o




	Printing Map - 2021-07-17_Kalinka_Topo_OTM_z16
	Printing Map - 2021-07-17_Kalinka_Topo_OTM_z16
	Printing Map - 2021-07-17_Kalinka_Topo_OTM_z16
	Printing Map - 2021-07-17_Kalinka_Topo_OTM_z16
	Printing Map - 2021-07-17_Kalinka_Topo_OTM_z16
	Printing Map - 2021-07-17_Kalinka_Topo_OTM_z16
	Printing Map - 2021-07-17_Kalinka_Topo_OTM_z16
	Printing Map - 2021-07-17_Kalinka_Topo_OTM_z16
	Printing Map - 2021-07-17_Kalinka_Topo_OTM_z16

